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MODULE Module1
CONST robtarget

Target_70:=[[-224.011205552,135.527108744,487.704338612],[0.353553313,-0.6123
7248,0.61237248,0.353553313],[-1,0,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
plz11:=[[37.869880471,44.814983349,115.908038328],[0.001652216,0.707104385,-
0.707105313,0.00165409],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla1:=[[37.8700052,44.815136086,39.490813564],[0.001651816,0.70710452,-0.7071
05178,0.001654058],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi11:=[[-489.951104876,140.965986471,162.762733411],[0.001652044,0.7071057,-0.
707103996,0.001655228],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi1:=[[-489.951183238,140.966082149,59.407584776],[0.001651979,0.707105621,-0.
707104075,0.00165472],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla22:=[[37.869942427,116.557143713,155.39126366],[0.001651852,0.707104876,-
0.707104822,0.001654266],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla2:=[[37.869940738,116.557190745,39.490847993],[0.001651699,0.707104729,-0.
707104969,0.001654142],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi22:=[[-489.951259604,80.653337944,156.122050005],[0.001652015,0.707105581,
-0.707104116,0.001654666],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi2:=[[-489.951173225,80.653256714,59.407299329],[0.001651987,0.707105682,-0.
707104014,0.001654959],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla33:=[[115.738761397,44.409702788,133.350771359],[0.001651405,0.707105229,
-0.70710447,0.001654215],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla3:=[[115.738591832,44.409570256,39.490752672],[0.00165187,0.707105066,-0.7
07104632,0.001654128],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi33:=[[-489.951153989,20.789766822,176.305175859],[0.00165229,0.707105496,-0.
707104197,0.001655658],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi3:=[[-489.951229613,20.789932408,59.407225593],[0.00165209,0.707105525,-0.7
0710417,0.001655202],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
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pla44:=[[115.738762369,116.557191188,146.072597057],[0.00165153,0.707104774,
-0.707104925,0.001654045],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pla4:=[[115.738726819,116.557121339,39.490732226],[0.00165192,0.707104783,-0.
707104915,0.001654139],[-1,-1,-1,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi44:=[[-489.951097873,-38.971314643,204.450846504],[0.001651847,0.707105696,
-0.707103999,0.001655135],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

CONST robtarget
pi4:=[[-489.951092308,-38.971402841,59.407056847],[0.00165204,0.707105435,-0.
70710426,0.001655285],[0,0,0,0],[9E9,9E9,9E9,9E9,9E9,9E9]];

PROC Path_10()

ENDPROC
PROC Path_20()

MoveJ Target_70,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ plz11,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pla1,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Set do1;
WaitTime 0.3;
MoveJ plz11,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pi11,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pi1,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Reset do1;
WaitTime 0.3;
MoveJ pi11,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pla22,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pla2,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Set do1;
WaitTime 0.3;
MoveJ pla22,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pi22,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pi2,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Reset do1;
WaitTime 0.3;
MoveJ pi22,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pla33,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pla3,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Set do1;
WaitTime 0.3;
MoveJ pla33,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pi33,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pi3,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Reset do1;
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WaitTime 0.3;
MoveJ pi33,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pla44,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pla4,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Set do1;
WaitTime 0.3;
MoveJ pla44,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ pi44,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveL pi4,v1000,fine,Tooldata_1\WObj:=Workobject_1;
Reset do1;
WaitTime 0.3;
MoveJ pi44,v1000,z100,Tooldata_1\WObj:=Workobject_1;
MoveJ Target_70,v1000,z100,Tooldata_1\WObj:=Workobject_1;

ENDPROC
ENDMODULE

RAPID --- --- RAPID

1 RAPID PATH20 ---
--- PATH20
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